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StZ2UXeld ~E2e 21,260 41,790 /20,530
201 LEH2EHI 7,150 27,790 20,640
01 AtR22lb] 7,150 27,790 220,640
1) et=2H| 7,150
) F==EH A 29,1002 x204 2 +6E 350
)= Hel =2 500,000% «2IH 2 +6 2 6,000




SA AN A A
B Giac 2
ctel: otSEXclE 22 (S d &
S B S9(S0) - MRAEY - BaS Of o o HIDS
Qe=SANEZB A2 200,000& x2I1 A +22] 800
202 o8l 910 800 110
01 =LHoitl 910 800 110
)5t 202 2 At2l 2/ 01| 75,8002 #2JH A +2H x33] 910
206 M=Hl 13,200 13,200 0
01 =4l 13,200 13,200 0
DA AAR 25,0002 «105*2) ~x122 6,000
1) Sl 30,0002 *x10& 21 A+ 12 7,200
OtSot==HMelAld RXl2el 249,003 703,363 454,360
OtSot=XelAld |Xl2el 237,550 682,360 N444,810
201 €24 167,550 74,360 93,190
01 A2ty 1,680 1,800 A120
1)0tSotr 2l L ARG = XOH A 7,0003 x4 H 60 1,680
02 =29l 165,870 72,560 93.310
1OISst=HMelAlE &g 88,2143 #2801 A x123 29,640
1)8t=st+== &3l 1,100,000 A 13l 1,100
10ISot=Cl =AM RIE S 2,500,000 #3742 7,500
10ISst=MelAlg22 I, dIIssSs7E /A2l 3,200,000 30K 2 96,000
1)0tSotsHMel A Z 2 2CCTVE S (Al 72l ==) 1,200,000& * 1000 2~ 12,000
DL PAPSElL=] 385, 0003 261 2 x 12| 10,010
(DG PAPSEE E=al] 370,000 #2601 2+ 12 9,620
401 AlEHIX S0 70,000 600,000 /530,000
01 Al&HI 70,000 600,000 A.530,000




SA AN A A
33 otk 2c
=2 OlSot=xclAld A2l (S E )
S B S9(S0) - MRAEY - BaS Of o o HIDS
0SSt HELLHA 12.5km*2,000,000& 25,000
1)0ISot=HelAlE fIE2e] 150,000 x250 A+ 12 45,000
OtSot=HMelAld =Z2te| 11,453 21,003 29,550
201 £et2dH] 1,050 9,811 A8,761
01 A2ty 1,050 9,811 A8,761
DEEEES=] 1,050
2)0ISot=MelAEE 2P A8 29,1502 x4 2= +6E 700
2)SHIHEN = 50,0002 x29H 2 100
HEAAeZMA 1,000& %2500+ 250
202 o8l 3,411 4,200 AT789
01 UL 3,41 4,200 AT789
1)0ISot=c8E =2 H A2 2(SY) 75,8002 x 18 +55 H*93| 3,411
206 THZ4I 6,992 6,992 0
01 =4l 6,992 6,992 0
Not=EZAMEM-E T 2,000 *1,0004 2,000
o= 3l 16,0003 x260H A+ 123 4,992
HE2HZHI (Al 22| A) 77,797 68,028 9,769
g =gyl 58,240 47,503 10,737
el =gyl 58,240 47,503 10,737
101 Q1AH| 53,240 42,463 10,777
02 =¢ 53,240 42,463 10,777
Nz2RE 53,240
AQAZLR2RE 53,240




2A:A

a2 ArE A
X
(==}

M HE2AGH(AlE22IAIE L)
oel: oli2ay| (et &
SN EB . E(B) - HBEAY - BES Ol are o HIDS2
3)52 9,796 x1H »40AI 2t 128 4,703
3)6= 8,312 x3H »40A| 2H+ 122 11,970
372 7,457 x4 B x40 2H 128 14,318
3)8= 6,6822 x 1= »40A| 2t 128 3,208
3)92 5,993& x3F »40A| 2Hx 122 8,630
3)J1s10=2 54223 x4 H+40A 2t 128 10,411
203 HRF=&Y| 5,000 5,040 240
02 HEIAHRZ=EH| 800 840 A40
DAIEZel At A HRADHA 40,000 20 800
04 EN2HIRFLHI 4,200 4,200 0
NAIEZelAIE L M2 350,000 123 4,200
Jl2&l 19,557 20,525 A 968
JIE234 19,557 20,525 A 968
201 LEr2ZH| 16,525 16,525 0
01 ArS2teld] 10,275 10,275 0
1) e8| 7,775
Q)RNMEYEAD|, Z2IH, BMA EHEY 1,200,000 1,200
Q)RN2YAMNREE 4,500,000 4,500
2)A2, MG T VIR=3IE 2,075,000 2,075
NEA2G S 2| 2,500,000 2,500
02 =324l 6,250 6,250 0
NAIEZEIAIE A JIIMER 196,666 122 2,360
NAIEZEIAIE A AT AIES 10,000& 123 120




2A AL 2e|AFE A
T HHRIZHI(AlLZElAE L)
£rel: Dl | crol M
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIDE
nNeoFtlsdz 132,000& 122 1,584
NSERIS(SII) 2,500& x60S *102] 1,500
NREAISZ (LBt 2503 %2, 744E 686
202 O4d| 3,032 4,000 2968
01 =3LHAbI 3,032 4,000 2968
DAIZZE AL AN 2 75,8003 x8H %53 3,032
HRes(AMZZelArgA) 365,338 0 365,338
LHEHHK = 365,338 0 365,338
LHRHHX = 365,338 0 365,338
701 JIEISIHNES 365,338 365,338
01 JIEtSIHNES 365,338 117,779 247,559
g3lH HE= 365,338,000 365,338




